


Figure 1: Internal scheme
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Figure 2: Simulation results

5.2 Computing factorials

The example in 2 computes the factorials of 1 . . . 9 and writes the results to the
PC via UART. Note that the last result transmitted will be wrong, because it
is truncated to 16 bits.

Listing 2: Computing factorials
1 ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;
2 ; ; ; f a c t o r i a l
3 ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;
4 ; ; ; compute f a c t o r i a l s o f 1 to 9 and wr i t e r e s u l t s to
5 ; ; ; the PC via UART
6 ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ; ;
7

8 . data
9

10



38 l d i l r8 , l o ( i o b u f )
39 l d i h r8 , h i ( i o b u f )
40 l d i l r9 , l o ( convert )
41 l d i h r9 , h i ( convert )
42

43 l d i b r12 , −8 ; enable wr i t e i n t e r r u p t s
44 l d i b r11 , (1 << 2)
45 s t o r e r11 , r12
46
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100

101 wr i t t en :
102 g e t s h f l r10


